
 

Instructions 

• Use black ink or ball-point pen. 

• Fill in the boxes at the top of this page with your name, 
centre number and candidate number. 

• Answer all questions. 

• Answer the questions in the spaces provided 
– there may be more space than you need.  

• You must show all your working. 

• Diagrams are NOT accurately drawn, unless otherwise indicated. 

• Calculators may not be used. 
 
Information 

• The total mark for this paper is 31. There are 18 questions. 

• This paper assumes students have worked through the “Aiming for Grade 1 papers” and 
as a result may have already seen a small number of these questions. 

• All the questions are placed in ascending order of mean difficulty as found by students 
achieving Grade 2 in the Summer and November 2022 examinations.  

• The marks for each question are shown in brackets 
– use this as a guide as to how much time to spend on each question. 

 
Advice 

• Read each question carefully before you start to answer it. 

• Keep an eye on the time. 

• Try to answer every question.  

• Check your answers if you have time at the end.
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Answer ALL EIGHTEEN questions. 

 

Write your answers in the spaces provided. 

 

You must write down all the stages in your working. 

 

 

1 In Norway last year, the lowest temperature was −15°C. 

In Norway last year, the highest temperature was 42°C greater than the lowest temperature. 

 

Work out the highest temperature in Norway last year. 

 

 

 

 

 

.......................................................° C 

(Total for Question 1 is 2 marks) 

2 y = 6x − 5 

Work out the value of y when x = 4 

 

 

 

 

y = ....................................................... 

(Total for Question 2 is 2 marks) 

 

3 Here is a list of ingredients for making 10 scones.  

 

Mia wants to make 25 scones. 

Work out how much sugar she needs. 

 

 

 

 

 

 

 

....................................................... g 

(Total for Question 3 is 2 marks) 

___________________________________________________________________________ 
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4 Simplify e + e + e + e 

 

 

 

....................................................... 

(Total for Question 4 is 1 mark) 

5 Write these numbers in order of size. 

Start with the smallest number. 

 

 

1

2
 0.55  45% 

 

 

.............................................................................................................. 

(Total for Question 5 is 1 mark) 

 

6       Here is a list of 8 letters. 

B C A A A A B A 

One of the 8 letters is going to be picked at random. 

 (i) On the probability scale, mark with a cross (×) the probability that this letter will be B. 

 

(1) 

(ii) Find the probability that this letter will be C. 

....................................................... (1) 

(Total for Question 6 is 2 marks) 

7 There are 15 sweets in a jar. 4 of the sweets are red. 

Jill takes at random a sweet from the jar. 

 

(a) Write down the probability that the sweet is red. 

 

 

....................................................... (1) 
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There are only green counters and blue counters in a bag. 

 

A counter is taken at random from the bag. 

The probability that the counter is green is 0.3 

 

(b) Find the probability that the counter is blue. 

 

 

 

....................................................... (1) 

(Total for Question 7 is 2 marks) 

___________________________________________________________________________ 

8   There are only blue counters, green counters, red counters and yellow counters in a bag. 

The table shows the number of blue counters in the bag. 

Colour blue green red yellow 

Number of counters 30    

 

There is a total of 100 counters in the bag. Ashin takes at random a counter from the bag. 

Find the probability that the counter is not blue. 

 

 

.......................................................  

(Total for Question 8 is 1 mark) 

9    Simplify 3 × w × 5 × t 

 

...................................................... 

(Total for Question 9 is 1 mark) 

10 Change 40 centimetres into millimetres. 

 

 

 

 

....................................................... millimetres 

(Total for Question 10 is 1 mark) 
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11 Find the value of y. 

 

 

 

 

 

y = ....................................................... 

(Total for Question 11 is 1 mark) 

 

12 Here are two parallelograms on a coordinate grid. 

 

 

 

Parallelogram D is a reflection of parallelogram C. 

On the grid, draw the mirror line. 

(Total for Question 12 is 1 mark) 
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13 The bar chart shows information about the total rainfall each month for four months in a city. 

 

 
 

Rupa says: 

 “In February there was 15.5 cm of rainfall because the bar is half a square above 15” 

 

Explain why Rupa is incorrect. 

 

...................................................................................................................................................... 

 

...................................................................................................................................................... 

 

...................................................................................................................................................... 

 

 

(Total for Question 13 is 1 mark) 
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14 Here is a completed frequency tree showing information about people who did a test.  

 
 

One of these people is picked at random. 

 

Find the probability that this person is an adult who failed the test. 

 

 

 

 

 

....................................................... 

(Total for Question 14 is 2 marks) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

72 

32 

20 

12 

40 

34 

6 
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15 Here are the ages, in years, of 15 people. 

 

19 28 29 33 27 

27 37 25 27 37 

17 45 47 25 26 

 

Show this information in a stem and leaf diagram. 

 

 

 

 

 

 

 

 

 

 

 
 

(Total for Question 15 is 3 marks) 

___________________________________________________________________________ 
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16 The composite bar chart shows information about the number of people living in a village. 

 

Find the number of children living in the village in the year 2010 

 

....................................................... 

(Total for Question 16 is 1 marks) 

___________________________________________________________________________ 

17 A shop sells jars of coffee. Each jar of coffee costs £4 

Michael has £23 

(a) Work out the greatest number of jars of coffee Michael can buy. 

 

 

 

....................................................... (2) 

In a sale on Wednesday, jars of coffee are sold at half price. 

Michael thinks that he can now buy exactly twice the number of jars of coffee for £23 

(b) Is Michael correct? You must give a reason for your answer. 

 

...................................................................................................................................................... 

...................................................................................................................................................... 

.................................................................................................................................................(1) 

(Total for Question 17 is 3 marks) 
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18 Increase 240 by 20% 

 

 

 

 

....................................................... 

(Total for Question 18 is 3 marks) 

 

TOTAL FOR PAPER IS 31 MARKS 

 


